
Séquence de Nombres Linéaires (I)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 313 513 663 713Différence commune:2. 695 725Différence commune:3. 661 636 611 586 511 486 436Différence commune:4. 207 582 657 732Différence commune:5. 717 517 417 217 17Différence commune:6. 436 446 466 476 486 496 506Différence commune:7. 537 487 387 237 187 87Différence commune:8. 612 537 387 162 87 12Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (I) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 313 363 413 463 513 563 613 663 713 763Différence commune: 502. 685 695 705 715 725 735 745 755 765 775Différence commune: 103. 661 636 611 586 561 536 511 486 461 436Différence commune: -254. 57 132 207 282 357 432 507 582 657 732Différence commune: 755. 917 817 717 617 517 417 317 217 117 17Différence commune: -1006. 426 436 446 456 466 476 486 496 506 516Différence commune: 107. 537 487 437 387 337 287 237 187 137 87Différence commune: -508. 687 612 537 462 387 312 237 162 87 12Différence commune: -75Mathslibres.com


